—EERE ZTTRF —EERE ZZTTRF
B 5 BETRT BT B 5% BETRT BT
REEBE - RLRE METHCEHESRE 34 (b)

B/ (AR)EEEB RS 34 (a) 1,237,616 (526,452) BITHAR A 6,650 17,443

FIE S 5 (47,230) (37,035) REVEREZES 969 =

B H (181,844) (96,843) iR ARITER 1,117,382 652,889

BERHAER (693,858)  (458,814)

e/ (AR)CEXEK RS FE 1,008,542 (660,330) WERBRE = B BEE 2B HIRT

gz Cd) /#mn (654,351) 668,387

REXKZHERE B TFRERE (16,830)  (113,630)
BEWE HBERZME (4,336) (5,730)

BEREME (296,852) = (AR)/REBMEETB2HEFHE (240,038) 766,275
W hE H AT HE 36 (a) — (438,568)

REWE R RFE KA 183 = ReR\BITEBRZEN (BD)BE 556,974 (333,055)

BEHMKEE (836) — REERB2RE RIRITEH 255,206 610,354

e MR E 2 HIE 44,841 — EXgFHoyE (71,120) (22,093)
SRS 14,713 3,706

BN ETHEHEEZRE 716 1,592 REER 2 RE RIBITEH 741,060 255,206
B ERZESERE RS 30,041 —
AR EXEB 2B FE (211,530)  (439,000)
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